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Section : Domain Knowledge

Q.1 Itis desirable for a relay system to be sensitive so that it operates with

ampere input.
Ans x 1. moderate

values of volt

25 2. high
x 3. medium
J 4. low
Question ID : 2752281129
Status : Answered
Chosen Option : 4
Q.2 wufAs Raeure_______ Zr19ga frar sian g1

Ans  off 1 3-8, 3-dfm vomeh
X 2. 3-8, 2-dfeR oTeht
X 3. 2-%, 4-dfaR voTeRt
X 4. 13, 4-dfeR omeht

Question ID : 2752281152
Status : Answered
Chosen Option : 1

Q.3 = 7 @ forg v & wies &1 SuahT 39 gyt F faar wiren @, s1gt dter nfa &t firR &5 g/
&9 o straT &, IeTeRen & forg, 9 ofik e e, uidas 3w ofk oieg e wafie gmrf?

Ans X 1. sigeeniferh Aex
o 2. afyada e
X 3. Rz e e
X 4 ReRRRE e

Question ID : 2752281094
Status : Answered
Chosen Option : 2




Q.4 wge & Tl F, ey F @ ate-mr awa t-anfd argm & sia ofik ok & offre &t o & aemrer
are & i wr e §?

Ans J 1. 3nfdhT @12\ (Arcing time)
x 2. 8f& 2189 (Breaking time)
x 3. tftanfdh ergw (Prearcing time)
x 4. gt uf¥aTe 99 (Total operating time)

Question ID : 2752281134
Status : Answered
Chosen Option : 1

Q.5 wyfehT thaer @t e A & foner wwiorer g1 Pifée fawar s1rar 22
Ans  off 1. waE wfSh ave / R & ae
X 2. e wfSi ae / v e
X3.Wqﬁﬂaﬂzlwt@ﬁﬂaﬁz
X 4. gt &Y aie W / e wgfen e

Question ID : 2752281135
Status : Answered
Chosen Option : 2

Q.6 fm-far dsaam Al &t wia 50 Hz &t smyfe & Sitet e g, a9 9g 290 RPM UR Tetd! §1 9t
oY T AT A

Ans X125
X 2.15
X 3.30
W 420

Question ID : 2752281112
Status : Answered
Chosen Option : 1

Q.7 Ueh $=a9 Atex i aEfEn, g Y v FAfEa g & feiw &1 i 6t @) g f emagasarn
@ PruffRa gt 21

Ans x1,aﬂqﬁ
X 2.3
o 3R
X 4 @

Question ID : 2752281107
Status : Answered
Chosen Option : 3




e (Im[:oe:dzmce)2 =?

Ans 5 1. (resistance) + (reactance)
X 2. (resistance) - (reactance)
v 3 (resistance)® + (reactance)’

X 4 (1'esistance)'2 - (‘reactance)2

Question ID : 2752281044
Status : Answered
Chosen Option : 3

Q.9 Efficiency of a transformer is given by the expression:

Ans x 1. 1- (iron losses/input)
x 2. 1- (losses/output)
x 3. 1- (Cu losses/input)

« 4. 1- (losses/input)

Question ID : 2752281121
Status : Answered
Chosen Option : 4

Q.10 In case of DC motor, the main flux is

Ans x 1. flux produced by armature conductors
x 2. flux produced by current carrying conductors
« 3. flux produced by permanent magnet

x 4. flux produced by auxiliary winding

Question ID : 2752281074
Status : Answered
Chosen Option : 2

Q.11 TeuehIfereh HIeR & STeT- ST Sowi- Ul & wad §, gE fiow (Unity PF) &t P d &
forads gr e fama siran @2

Ans «1. Eb>v
X2E,<V
X3sEp=V
X4 Bp=Ec

Question ID : 2752281105
Status : Answered
Chosen Option : 3




Q.12 e 4-Ule DC Aiex 25 A &Y =R oRT a1 §1 3= & 200 9 F-as a1 &1 ufa oie
U1 20 mWb 21 Aiex & =R gt AifEfa gener ek & o s

Ans " 1.76.3N-m

o 2.159N-m
X 3.223N-m

X 4.98.45N-m

Question ID : 2752281079
Status : Not Answered
Chosen Option : --

Q.13 = # @ F9-u1 uas wfdhe # =@t g wefide @1 g garet 8, Wit @« fraeran g, o9 399 glaw
e URT weTfEd gidt & 3R 39 93¢ ug uluy <t oo sear &2

Ans x 1. 3
x 2. ufiuy faiwies (Circuit breaker)
VERT
X af@

Question ID : 2752281137
Status : Answered
Chosen Option : 3

Q.14 1 & & F9-91 Uas IURT &, it Ffe &1 uar e g S wfdhe s & d@ares & gEera
AT g, A1k Sroguf A ot Skt Rew | aren @ wmg?

Ans X 1. f@e-fire (Switch-gear)

JZ.ﬁﬁ(Relay)
x 3. gurEraA f&@d (Pushdown switch)

x 4. 'Sl (Fuse)

Question ID : 2752281131
Status : Answered
Chosen Option : 2

Q.15 ag Hie [ wehR &1 Al g g, e e ot River-ther aEfEn e 6t st 8 sik gen
theTgaRe @ (centrifugal switch) weT= farar Sran &, St Iudin daer uRfSe 32 &
forg feram sTran &2

Ans X 1. sigegehiferds Aiex
X 2. geameres Hiex
o 3. e et witeR
X 4. ofade B

Question ID : 2752281087
Status : Answered
Chosen Option : 3




Q.16 = & @ wi=-a1 araam= # gf 1 uwma &2

Ans  off 1. engait & ufiRiv o AT T YTeTE g &
< 2. argait # ufdRie &1 aTHT (Ui FuTae gl &
ZX 3. g & ufekty o ATaHT UTieh U il @
< 4. argait # ufkiy & dtedst uTidh eTHE g1 @

Question ID : 2752281010
Status : Answered
Chosen Option : 1

Q.17 For measuring relative permeability, is chosen as the reference medium.

Ans X 1. glass
X 2. silver
o 3. vacuum
25 4. water

Question ID : 2752281030
Status : Answered
Chosen Option : 3

Q.18 Rueem fter & el #, A= & @ ia-a1 Y= Tea 82

Ans  off 1. e oRad R W Ry R zed 21
X 2. 558 a9 R T e A g a2
X 3. vite d uRada & @y 1f aeerdt &, 9 g AR (no load) R @eRATE U @ I @ 21
X 4. G I I o BigaR, H Th U Eie 81

Question ID : 2752281091
Status : Answered
Chosen Option : 4

Q.19 T &lex 220 V R H=ierd &t @1 & 3R 53R 227aT1 99% &1 39 ZRT @ud 6t 5 areft Fetf
1.5kW/hr 21 §1er i 39qe Ry 71e 1)

Ans ' 1.222A

X 2.22A
X 3.756A
o 2682A

Question ID : 2752281018
Status : Not Answered
Chosen Option : --




Q.20 @eifei & ok Efti 2 & oifaftam, P d A o ysR e A dia R S e A d gw

Ans

&, Sit et oft deharer Ot & et TuTer= o foIT smasges gt 87

x 1. gfief fdh (Dangling torque)

x 2. fathf@@ ¢fd (Defecting torque)
x 3. 2faufé &t (Deviating torque)
J 4. fausifedn &id (Deflecting torque)

Question ID : 2752281081
Status : Answered
Chosen Option : 4

Q.21 €R Foll Hid Iuaul §R Al d g arelt Ues Tam@afes sifAferar & aread d € Fotf &l

Ans

TUidid et 81 g = & @ R wuma ur R o g, it g @ simaee fafeeror & sraariuor

R fa.ar.9. (EMF) ffifa sar 82

ZX 1. BXd-=rerae waE (Photo-conductive effect)
X 2. WA-Roft weTE (Photo-inductive effect)
« 3. Biet-aieda goa (Photo-voltaic effect)

X 4. W& urE (Photo-electric effect)

Question ID : 2752281143
Status : Answered
Chosen Option : 3

Q.22 waifde s fahg o= aret mufae e gttt gl

Ans

X 122KV, 66.6 kV 31 33.3 kV
W 2.11kv, 6.6k siR33kV
X 3.31kV,36.6 kV 3R 3.3 kV

X 4.44KV, 66.6 kV 3R 33.3kV

Question ID : 2752281150
Status : Answered
Chosen Option : 2

Q.23 Internal characteristics of DC generator is the graph of , if the speed of the generator

Ans

is kept constant.

x 1. terminal voltage against load current
x 2. armature current against load current
J 3. induced EMF against load current

x 4. terminal voltage against time

Question ID : 2752281073
Status : Answered
Chosen Option : 1




Q.24 Eddy current damping CANNOT be used in:

Ans x 1. dynamic iron instruments
x 2. PMMC instruments
x 3. static iron instruments

J 4. Moving Iron instruments

Question ID : 2752281082
Status : Answered
Chosen Option : 2

Q.25 fwe urT Y g1 J UedTaT GRT & STaeh IUT @i T 33 & g A A @ FA-a g
HIR0T g1 87

Ans X 1. 3o qRuwr 3R RiRor st @ IuET €@ g §
X 2. Fe dieder Al AC U @t Uiy ) & N gl Tl s Suee fgen
X 3. 75 1 g1 ) & AR A FETE BT 8
o 4. 33 T ok RieRor R T Sgd Gva g g

Question ID : 2752281148
Status : Answered
Chosen Option : 3

Q.26 freft amer FammA A ____ g wIwe e afmia
Ans X-La,-q-"f;q@

X 2.3 Fwgemarg

o 3.9 g omard

X 4. f; o g o &

Question ID : 2752281012
Status : Answered
Chosen Option : 3

Q.27 50 Hz it mgfef & 513 weh aRuy & wearaed aiedst ofiz oRT o1 A1 she2r 400 V 31k 20 A § ofiR
@ if i sarashia (sinusoidal) €1t = 0 TR &A1 Y=TcHh 9 & g+ et aleest 3R 4RI &
ATcaifOrer AT shAaT: 283 V 3R 10 A &1 99y t IR dieew o 1w edoieh &1 9g= i)

Ans " 1.v=400sin (100t +1/6)
X 2.v=283sin (100t +1/6)
Z< 3.v=283sin (100t +1/4)

o 4.v=400sin (100 Tt +/4)

Question ID : 2752281035
Status : Answered
Chosen Option : 3




Q.28 =Tk &l WA & Y, g TR A I faerelt &l _____ & g ToTRT <17t 8, St aieest

i T Bl
Ans O 1 orfEnm

X 2. diefi-thet
o 3. Ru-om grmR
X 4. sifd

Question ID : 2752281115
Status : Answered
Chosen Option : 2

Q.29 ¥ & AR R FlS FEdT &, e ISR ©U A FS 0T dek araH thet § Ugd oirar g 3R e off

JeUhITelch U ¥ Il T§dT ¢ 1 §9 10T Y fohd A8 | 5= Srar @2
Ans x 1. f&erufei direr (decoupling angle)
x 2. deite UTe / SFelifEn UiTe (balanced angle/unloading angle)
x 3. & Uit (lag angle)
J 4. &g UTTe / FufeiT Uire (load angle/coupling angle)

Question ID : 2752281103
Status : Answered
Chosen Option : 4

Q.30 Which of the following is NOT an essential part of an induction motor?
Ans x 1. Frame

J 2. Air bags
x 3. Stator and rotor windings

x 4. Stator and rotor core

Question ID : 2752281108
Status : Answered
Chosen Option : 3

Q.31 giawie § g1t areh AT a1FY (Hysteresis loss) s & & smroret at 1
Ans ‘/ 1. Mgt

x 2. gF-d18 9T (no-load current)

/X 3. qof-eite umT (full-load current)

X 4 aew

Question ID : 2752281058
Status : Answered
Chosen Option : 1




Q.32 af¥ hies aEfEn gr1 fAffa 49 veam 6 Ran # serfa e Raremg, @t )
Ans  off 1 sz & qoi Y R St g St

< 2. & e Fffa wefer &Y et & SR 8 gt

X 3. & dieran Fifefer v 3 Rreter g st

27X 4. SR ae 7 g ST

Question ID : 2752281075
Status : Answered
Chosen Option : 1

Q.33 FERF AR S Uy A, fou s &t
Ans

(Ns - N)
e
a N x 100
9 (N f= Ns)
N, X 100
. N—N))
N x 100
. N—N)
N, X 100

& g [Afée foman e 21

X

v

Question ID : 2752281110
Status : Answered
Chosen Option : 4

Q.34 A 50-pF capacitor is connected across a 230 V, 50 Hz supply. Calculate the reactance
offered by the capacitor.

Ans X 1.3620

X 2.3360
X 3.3660
o 46360

Question ID : 2752281040
Status : Answered
Chosen Option : 4

Q.35 ofy a & sfoRivear 0.0182 pom &, & F@ & 1 km waE A 3R FFIET FE F 10 mm? SvE
arer ATeTR T T foraar gem?

Ans

X 1182 x 1030

X2182 x 103
X3182 Q
vi182 0

Question ID : 2752281009
Status : Not Answered
Chosen Option : --




Q.36 af¥ga fagz ®u @ arRar uRuy § engf gt €, at dufs grrvea ufeam s e _____ )
Ans o 1w

X 2. omfkafda @m

/< 3. g a s

X a.agm

Question ID : 2752281043
Status : Answered
Chosen Option : 1

Q.37 =& (stampings) i Aters Siat ovm ghft, ciawik & ______ Sa-n &t & ghfh
Ans J 1. iR ur1 g1 (eddy current losses)

x 2. = g1f¥ (friction losses)

x 3. 9fdg g1 (hysteresis losses)

x 4. IrgayoT g1 (windage losses)

Question ID : 2752281059
Status : Answered
Chosen Option : 3

Q.38 ag ¢ [ gos Rive aEfEn wrafaew ofiv fadiaes gt aEfEn & wu § ord sl 81
Ans J 1. 3ifet TR (An auto transformer)

x 2. utéfAraer gigwiER (Potential transformer)

x 3. ST-UFR &1 ZiFhHR (Shell-type transformer)

x 4. e g (The current transformer)

Question ID : 2752281061
Status : Answered
Chosen Option : 1

Q.39 59 a¥g &t AC fara=or wonht &1 fgwan g, st wrmr=a suai it go § §55 8% a9 alees
R Tarfera gidl & ofir eftaa v gt aet susitnt Iught it gear # faege =it & 92 stent
ol HUTert g1

Ans X 1. 3eT fReRor ot
X 2. fadtaes e yomeht
Z< 3. e fraRor promeft
o 4. mafie o yomeht

Question ID : 2752281149
Status : Answered
Chosen Option : 4




Q.40 The magnetic potential is a quantity.
Ans x 1. negative

« 2. scalar
x 3. positive
x 4. vector

Question ID : 2752281033
Status : Answered
Chosen Option : 4

Q.41 srfaTeent H afeRt ______|

Ans X 1. qroEr i uRad 7 g w gl @
o 2. o d e e R AT
X 3. arome & w89 W aear @
X 4 o # i 8 WA @

Question ID : 2752281069
Status : Answered
Chosen Option : 2

Q.42 The high speed magnetic levitation trains employ the Principle of:
Ans J 1. linear induction motor

x 2. linear flux motor
x 3. nonlinear induction motor

x 4. linear magnetism motor

Question ID : 2752281106
Status : Not Answered
Chosen Option : --

Q.43 3T dtedot &1 |7 g &, af S eafd #t ets Rar sy we 3R umn, s e Ry e ar
Iga& Raecgidi 81

Ans X 1 &fsa

o 2. F=
X 3.3=
X 4 wem

Question ID : 2752281138
Status : Answered
Chosen Option : 3




Q.44 U 4-ulet DC iR & 90 e s =R arsfE &1 ufar oie et 30 mWb &1 i =rerent &t
AT 206 §1 919 5 230 V Y DC myfed & Sitst S &, 99 78 40 A Y iR Ry FHida e
1 s wfasiy 0.6 0 7 gg, Aier it wfa 7ma &)

Ans 3 1.2200 RPM
X 2.2120RPM
o 3.2000 RPM

27X 4.2060 RPM

Question ID : 2752281078
Status : Answered
Chosen Option : 2

Q.45 50 Q =T Y5 HfARIer 100 AISHIRTE 6 g enfan & ary soft e & &1 ag Soft @uis= 100 v,
50 Hz & smmfd & a7 gom & | ufeemen ama &)

Ans X' 163630
X 2.42340
X 3.84200
of 450400

Question ID : 2752281048
Status : Not Answered
Chosen Option : --

Q.46 ufd ad= fa.ar.a. (EMF) 250/3000 diee €, fEre-thet giawiaR 8 atee &1 wufaw ok s
aei=t Y T 7 R

XNy = 12 3R N, = 275
X2 Ny =42 3R N, = 475
X3 Ny =223R N, =375
v 4Ny =323k Ny =375

Question ID : 2752281120
Status : Answered
Chosen Option : 2

Q.47 =7 AR & def #, 51 W= R gian &, goff urwr &t smgfer omufe smgfy & wom gt 81
Af w19 Aex g wan &, 9t emgfe e 7 @ e wr Pk =t @2

Ans  off 1 mriernf a1 e Ry
X 2. afn & @

X 3.7
X 4 ot & dem

Question ID : 2752281111
Status : Answered
Chosen Option : 1




Q.48 32 ule Rve-ther v’ & deof , uie & o1t umr & afka: ue e gfdhds aie i wiga w=h
sTfte SR _ wgiemargl

Ans o 1 dfEmatsa
X 2. v wige
X 3. uifei siger
X 4. sreaifén sige

Question ID : 2752281089
Status : Answered
Chosen Option : 1

Q.49 f3w Jead ABCD =t FrrguR safee frar man &:

zfif=ii A-B, B-C, C-D, D-A, R B-D & g shaer: ufa<ier 100,20 0, 150, 5 0 3R 40 0 81
o sifaf¥es ufedty areft 20 v & Se@t 2fifam A siik © & 7w S @110 Q ae vl & urr
<hT |19 AT 1|

Ans X 1.1A
X 2.0.033A
o 30645
X 4.1.025A

Question ID : 2752281024
Status : Not Answered
Chosen Option : --

Q.50 o= & @ si=-a1 =, o f@Ri (instrument constant) 3 39 fagtyor & wu § ATgis
(measurand) T 71 34T &2

Ans x 1. 2139 1 3R 2180 2 47 (Type 1 and type 2 instruments)
( 2. Arder g3 (Absolute instruments)
x 3. fzftae 9= (Secondary instruments)
x 4. uryfle @ (Primary instruments)

Question ID : 2752281080
Status : Answered
Chosen Option : 2

Q.51 freft ufay Rratsie (circuit breaker) #, ag &iftres dieds giar &, st anfd fiftas &
SR YT HRT O A1 I Frehe e ©R a1

Ans x 1. ¥ gieewt (Rest voltage)
x 2. R gedt (Reverse voltage)
x 3. Rz gt (Reset voltage)

J 4. Regrsfehm giedst (Restriking voltage)

Question ID : 2752281139
Status : Answered
Chosen Option : 4




Q.52 T e g nifer ofk sneege wr ETgee Ot et AC smmgfet ur wenfera fran
ST 8|
Ans 1 FHP #i
X 2. s e Hex
X 3. iR e
o 4 afada A

Question ID : 2752281093
Status : Answered
Chosen Option : 4

Q.53 Rv 77 3w F Wegaa F¢ R X 3 Y F f7 oty 7w w5 oy F wh A aw F F

Question ID : 2752281023
Status : Not Answered
Chosen Option : --

Q.54 Fefaes ser e Rigia o o &ed &2
Ans x 1. st &1 A9 (Lenz's law)
X 2. @9Rd EMF (self-induced EMF)
x 3. TRATHT & 216 g9 & 1 (Fleming's right hand rule)

« 4. tre & fga grardhia IRoT figia (Faraday's law of electromagnetic induction)

Question ID : 2752281065
Status : Answered
Chosen Option : 3

Q55 Transformation ratio » is given by:

Ans X 1. ratio of V; to N,
v 2 ratioof I to Ip
X 3. ratio of Iy to V,
/X 4 ratio of Ny to E;

Question ID : 2752281055
Status : Answered
Chosen Option : 2




Q.56 farega arfen & urtwor & forg ugas =i 6 arrft J e & & - qorent 3@ g afge?

Ans

x 1. ¥=7 faga =r@aar (High electrical conductivity)
J 2. 3= UHR UTish (High expansion coefficient)
X 3. e amdféren s (Low specific gravity)

X 4. 3= 99 9 (High tensile strength)

Question ID : 2752281127
Status : Answered
Chosen Option : 3

Q.57 3ol & "o #, orSeye unT o Rex iR fAfga fifqt & e wiz wffe aws S oo

Ans

X 1. AC ufeR g
W 2 R R
X 3. off s whitee
X 4. woff amfer

wehal g, Srad 59 sv-Fitae | giow oA i wea g gt 81 g8 e | @ foradh aRon
Hwa gl g?

Question ID : 2752281096
Status : Answered
Chosen Option : 4

Q.58 35 Aoy SR g R arel ioft ufuy &, urr oiik gt Fraifea ®u & coea g g &:

Ans

i()=5sin(314t+2wW3) 3R
v (t)=15sin (314t + 5 1/6)

ulRuy & ufa=ter & A fRra=r gm?

o 1260
X 2.3250
X 3.30

X 4.4780

Question ID : 2752281046
Status : Not Answered
Chosen Option : --

Q.59 = vfE dedt gt e & = |

Ans

X 1. gts e et 1 b g e &

X 2. gite e a1 ol g e @

2 3. gete R et o g ot &

o 4. wits ek ateRed) s @ o gt &

Question ID : 2752281028
Status : Answered
Chosen Option : 4




Q.60 wga & wef d, fon=t & @ - orftrereny wenfra «mr & AC @ea 1 RMS o1 8, St 33 afdfa
At IR o Taifer g @ 82

Ans J 1. sifdhT Sufrr (Breaking capacity)
x 2. gt URETer S5 (Total operating time)
x 3. anfdh Z13H (Arching time)
x 4. f-anfdr zrg (Pre-arching time)

Question ID : 2752281133
Status : Answered
Chosen Option : 2

Q.61 ufg gRurm= s1guTd (transformation ratio) 3 &, at aifel giawiHR ofi gt-argfE aret giawide &
die & a1 Rl SJUTd AT F1

Ans  of 1 23
X 2.3
X 3.1/3
X 453

Question ID : 2752281062
Status : Answered
Chosen Option : 1

Q.62 1 # & T affawgs wEHl | wi1s+ |Ule o1 ais-ig o a8 87

Ans X 1 ge 3R gad AR (wind loads) W 23 67 & g g aifie amed
o 2. 7= e @ g o o & forg TR
X 3. aifies wet 1 aify 3 e e A g
X 4. Rt

Question ID : 2752281124
Status : Not Answered
Chosen Option : --

Q.63 The main requirements of the insulting materials used in cables is:

Ans x 1. low insulation resistance
x 2. high insulation reactance
J 3. high dielectric strength

x 4. low insulation reactance

Question ID : 2752281052
Status : Answered
Chosen Option : 3




Q.64 foror R, B9 (mains) Fqiaid Hear gl
Ans X' 1 AC qE @Y AC TS A
Z< 2.DC 399z &1 DC 33eye &
o 3. AC sTgz %) DC smeye #
X 4. AC 379¢ &I SaTadhig $T9eye (sinusoidal output) &

Question ID : 2752281071
Status : Answered
Chosen Option : 3

Q.65 In a pure inductive circuit, the current lags behind the applied voltage by .

Ans

=

R NIH eH W

Question ID : 2752281038
Status : Answered
Chosen Option : 3

Q.66 =z Aer & Tgaf &, 120 sierTer FHior Y g ar vanfie i T aEfEn g 2-0| *R

ol Tefifa e g1
Ans O 1. 1-Bwt agfd

X 2.DC amgff

X 3. 2% g

o 4. 3% amofi

Question ID : 2752281109
Status : Answered
Chosen Option : 4

Q.67 R WX I & fAmfor & daa A P d @ ;-1 vus a7
Ans X 1. @2ffid Weow dRAf @ 7l ) 31 7 & e g £

X 2. 9T thA & R R ofik aEfEm it &1
x 3. e nifar & w2 Ot sieeedl d Wel # e e gl 8
¢4.a13frﬁmﬂa'cﬁwmaﬂag=rm%\

Question ID : 2752281097
Status : Answered
Chosen Option : 2




Q.68 famf geaeiom AT & A, A &Y Iea= 0 § @R Ep> V E AT AT s un s weh g
& =7 Hrex Fr e ST E

Ais, s Hg-3catsid (mild-excited)
X 2 H{:3edtad (under-exited)
v o HfF-3cafST (over-exited)
X a. aﬂﬁﬁa (un-excited)

Question ID : 2752281104
Status : Answered
Chosen Option : 3

Q.69 oz enfyar ooy &, eatOres af#T (instantaneous power) F1 Hfwan A= Rraar grar &2
Ars o 1. Nl D

X2 (32) x Vplm

X 3 2Vlm

X4 YT

Question ID : 2752281039
Status : Answered
Chosen Option : 3

Q.70 Iugeh e @1 =aa= & 3k g e wgea &t qrr @t
ufesty : ofiH o Irerehar: ?
Ans X 1. st/
X 2. #wrs
o 3. dassfe
X 4 Mho#i=

Question ID : 2752281017
Status : Answered
Chosen Option : 3

Q.71 gtk & ar d = & & @ e @7

Ans  off 1 7z omgfRr # Amgeh uRad & @y Rk (power) RIFTAR @ &
X 2. 7 Rigaeadhia iR & @y Ak (power) WHTaRa &l &
X 3. 75 sTafa # aRed & R 2 (power) STTARa Fea &
X 4. ua aRuy @ g uRuy & Ak (power) WFTaRE &l &

Question ID : 2752281116
Status : Answered
Chosen Option : 4




Q.72 DC #=2fi=i & deaf , g asfE & forg, gumiar uryl a 6 g g aiw p 6t @ aur g
Eok i B

Ans  of 1 FwEREE
X 2. damerde
X 3. daghads
X 4 dafRmede

Question ID : 2752281123
Status : Answered
Chosen Option : 1

Q.73 9g HI9-91 AR gl g, 5t Woft uerr | Rueer #ter & ww= gan 8, e 33 for o uen
faf<s Rex arEfEm aitz gt g2l =1 v ok @2 gian 8, o g o affds aude s fad
@ ST g?

Ans X' 1 RmHER
o 2. 38 Ruear siler
< 3.FHP #ieR

X 4 RRRRY AR

Question ID : 2752281090
Status : Answered
Chosen Option : 2

Q.74 = # § - fafd sk w gfasie At & nfy-Fr=on & fog =8 g &2
Ans x 1. 2fthr diee fAfd (Tapping field method)

X 2. FzERe HHfIeH (Centrifugal mechanism)

J 3. utRRan fAfd (Capacitance method)

x 4. uferdty fafdr (Resistance method)

Question ID : 2752281095
Status : Answered
Chosen Option : 2

Q.75 2 sheaex (stranded conductor) & g, fArewor yorreft &t sitags wg= & d@edf 4, afe 'n' ued
g, Al Gehet AT &t e T fra- giit?

Ans  off 1.30(n+1)+1
X 2.3n(n+1)
X 3.3(n+1)+1
X 4nn+1)+1

Question ID : 2752281126
Status : Not Answered
Chosen Option : --




Q.76 & H aedt ot S far e 8)
Ans X 1. i sifearge

X 2. ke &refiram

f 3. dz o

X 4. i &efigm

Question ID : 2752281025
Status : Answered
Chosen Option : 2

Q.77 ag e waf= F-wht 2, St Rrege it o) aifies St § wiaRa wwdt &2
Ans x-|g(—_}ﬁ§§$m

X 2. zdfle aedie

X 3. saffRe affe daw

& RE AR

Question ID : 2752281064
Status : Answered
Chosen Option : 4

Q.78 13 grEwAT # 400 FrufEw T 1000 afedas 57 (tums) &1 FT F YT HITET FE F
&% 60 cm? ¥ TR SrufdE 500 V W 50 Hz #r 3 F 7 &, & R # woaw uae & ey
HT=T &I 0T H

X 1.12.425 Wb/m?
X 29,382 Wb/m?
X3 0.5 Wb/m?

v % 0.938 Wb/m?

Ans

Question ID : 2752281056
Status : Not Answered
Chosen Option : --

7 3z ofts R ¥ wew ¥ e |

A X . Fae TAE @ PbSO, F wuERe BT ST §
X2
TarE 3k Fas @ F PbySO, H FuART AT Smar @
X 3 Fael FMT F PbSO, H TR ar =mar §

v
TArE 3T s S F PbSO, H FGRT fRaT Sar §

Question ID : 2752281027
Status : Answered
Chosen Option : 4




Q.80 = & & ag wi=-u1 74 8, e g geftde amra wu @ sifargifén ar foest famn aga =
mgﬁmmtm,mmmwamﬁaanmﬂq@mw
Ans 1. WSl gefidie o R haer
X 2. v gefdie i e
X 3. st geftiie i it e
o 4w e i ae W

Question ID : 2752281136
Status : Answered
Chosen Option : 4

Q.81 afy g aitw, mufAs dRs | sfde g, Sig® & wud JHra gl
Ans J 1. RU-377 ZEHhiR (step-up transformer)

x 2. gréfarger giEwhiFR (potential transformer)

x 3. @i ZIFWhIER (current transformer)

x 4. RU-E13 giahR (step-down transformer)

Question ID : 2752281054
Status : Answered
Chosen Option : 1

Q.82 In core type transformers, which of the following is NOT the possible structure of core legs?
Ans x 1. 4-leg core

J 2. 1-leg core
x 3. 3-leg core

x 4. 2-leg core

Question ID : 2752281118
Status : Answered
Chosen Option : 2

Q.83 forelt enfres areres o1 ofeRiy & SYRATIUTAT gt 21
Ans X 1. aomE

Jz.emﬁ%agmwaﬂzaﬂaaw

X 3. Tl & sy @1e 6 g
X 4 amh & dard

Question ID : 2752281008
Status : Answered
Chosen Option : 2




Q.84 Knowledge of
Ans x 1. peak factor

will enable the RMS value to be found from the arithmetic mean value.

x 2. average value
x 3. RMS value

J 4. form factor

Question ID : 2752281037
Status : Answered
Chosen Option : 2

Q.85 Magnetic field strength is a quantity.
Ans X' 1. negative

J 2. vector
x 3. positive
x 4. scalar

Question ID : 2752281032
Status : Answered
Chosen Option : 4

Q.86 a3t & FromrgER, VR I Ffa @ ddu___ wang g gardl
Ans X 1

X 2. wf Rer

< 3.
o 4 RfEh FaEtss

Question ID : 2752281014
Status : Answered
Chosen Option : 1

Q.87 Sy Fiae & Te aTe UH GTaR R FErae! ot gl st & forg sroeht Rt 1 10%
URT @Y &l 81 98 i Bz g &0 @ A goft & g @y g 21

Ans X 1 dfezdy
X 2 s & fg g3
o 3. ofae
X 4

Question ID : 2752281144
Status : Answered
Chosen Option : 2




Q.88 UHiex 3R givedler o uamadl yRT iR e w1 ______ A RepiE e &1
Ans X‘I.Rn(sine)

W 2. rRvs

X 3. 3fga

X 4. gemm

Question ID : 2752281036
Status : Answered
Chosen Option : 2

Q.89 gigwHR A g areft g1 it a1t e g1 (hysteresis loss) 317 Yiaw urT g1f (eddy
current loss) ® farnfSier faman stman g1

Ans x 1. argayoT (Windage)
J 2. #tg (Iron)
x 3. =eor (Friction)

x 4. =R (Copper)

Question ID : 2752281057
Status : Answered
Chosen Option : 2

Q.90 zfy oWb F Fo [ERT FoFH WAL T F A m? & S9Fw ¥ @ W @ §, A o Oae
T grem?

Ans - X 1. @2A Wb2m?
X 2 ®2/AWb?/m?
X3 ®xAWb—m?
v 4 ®/AWb/m?

Question ID : 2752281034
Status : Answered
Chosen Option : 4

Q.91 ua AC ulgy &, sarashira ¥R (sinusoidal current) &7 RMS #19 % =hioT UR 39& A &
RIS g &1

Ans  of 1 45°
X 2.60°
X 3o
X 490

Question ID : 2752281041
Status : Answered
Chosen Option : 4




Q.92 4-ulw, 3-%a1 §892 AieR 50 Hz &Y argfy areft sngfed @& wanfor gidh &1 5o Rfa § @ ar
Jarhr &t foner wifer & gofsr &= <gr g

Ans  off 1 1500 RPM
X 2.1200 RPM
75 3.1000 RPM

27X 4.1400 RPM

Question ID : 2752281113
Status : Answered
Chosen Option : 1

Q.93 Usually the step potentials are in magnitude as compared to the touch potentials.

Ans x 1. higher
x 2. equal
J 3. smaller

x 4. extremely higher

Question ID : 2752281053
Status : Answered
Chosen Option : 1

Q.94 According to scheme of connection, under which of the following is the distribution system
NOT classified?

Ans x 1. Ring main system
x 2. Radial system
J 3. Sequential system

x 4. Interconnected system

Question ID : 2752281147
Status : Answered
Chosen Option : 3

Q.95 tac@P R QR e @ g 10 0 a nfeRiT F el AT s A gt gs §IPH 12V
@1 fara. (EMF) g ofir 5o 2 0 o1 eriaftes ufeRiu &, Q ®# 8 Vo fLana. (EMF) & sfiRged 1 0
@1 Sfiafer ufaRty &1 faneatt & Fraw a1 Iudi #=a gy dedt Q # warfga g arelt o & 7=
AT &

Ans  of 1.075A

X 2.1625A
X 3.0875A
X 4.875A

Question ID : 2752281022
Status : Not Answered
Chosen Option : --




Q.96 fw 71T 3 W eTTS Y AT 50 V ¥l ¥ @7 TS @ I awr AT e med afade aiw &

Question ID : 2752281019
Status : Not Answered
Chosen Option : --

Q.97 Taffdrs st vy o el s Raorals 8
Ans  off 1. 400/230V

< 2.300/130V
Z< 3.500/230V

< 4.600/230V

Question ID : 2752281151
Status : Answered
Chosen Option : 1

Q98 Ffy sor 77 qwWr SaT §, & DC HAeT FT Ao FAIOT
e X1 garga=V+E,+ IR,
V2 V-5 3T = E, + IR,
X3 Ep=V =+ IRy — & 3T
X4V =Ey+ IR, — 52T 319

& T 2

Question ID : 2752281076
Status : Answered
Chosen Option : 4

Q.99 AR TH i nfa @ aear g, I R fes i nfad g Fn g 21 A d s Al ez =

Fovawarg ofrag _______ srauron o) wefefa sear &1
Ans X 1 g
W 2 @
X 3.t
X 4.2%

Question ID : 2752281086
Status : Answered
Chosen Option : 2




Q.100 uRay & 21fek 1ores &t f= & 9 fara wa & aftnfde fErar s aewar 82
Ans X" 1. st ifh du arafaes Atk & ST

o 2. ufde g ofaren & o
Z< 3. ufery @ wfdera & srgura
X 4. arsfae s aur wfErd af & s

Question ID : 2752281045
Status : Answered
Chosen Option : 2

Q.101 qeieX & IR # gl wren ¢ fof 9 ufeRty &1 aroa [onie BT g1
Ans X 1. et

X 2. e

X 3.f@x

o 4. T

Question ID : 2752281011
Status : Answered
Chosen Option : 4

Q.102 If the primary coil has 3 loops and the secondary coil has 30, then the voltage is:
Ans x 1. stepped up 3 times

x 2. stepped down 10 times

« 3. stepped up 10 times

x 4. stepped down 5 times

Question ID : 2752281119
Status : Answered
Chosen Option : 3

Q.103 freais & fram R AN g §
Ans X 1. AC diedt iR ariei

X 2.DC e ok arrai
o 3. DC 3R AC et o emrait gt
75 4.DC 3R AC dieewt gt

Question ID : 2752281020
Status : Answered
Chosen Option : 3




Q.104 MY waet & Fa= are uHe RaF §, a6 9t amsn Ft ag ghfda &= & ag Refa
T Ul @ o v =Y arftremran dara i ae6 (99% ) et oy, 39 ugd foF afaer @
o T ITTNT I e AgHS d ugE e
Ans x 1. 3fi9fH SR (0zone generators)
J 2. FRRdga s/@au (electrostatic precipitators)
x 3. YR AATSSH (air ionisers)

x 4. The (scrubbers)

Question ID : 2752281145
Status : Answered
Chosen Option : 2

Q.105 ST U<k ahise 9 A I ¢IRT T a1 &3l 8, 991 394 4.5 V T fraiar Amar ST @1 519 9@ shisd
# 25 Hz R 9 A &Y UeaTarcil eIRT &1 ag+ et g, a9 frvaiar 24 V gar g1 S99 5@ 50 V, 50 Hz i
argfet € et &, a9 Af¥h (power) T I

Ans  off 1 45w
X 2.5454wW

X 3.3256W

X aow

Question ID : 2752281047
Status : Not Answered
Chosen Option : --

Q.106 3iaRds wTE=T & wasf §, Sgeter o ran o Fret A @ v wtiorss & g Fiffse fma e 22
Ans X 1. (G + SitaRatee) / GRR A

\fz.da?wzﬁ/(qﬁsr—aﬁaﬁ’m)

X 3. g g / stavdlees

X 4. v e x (RS - SfaRatee)

Question ID : 2752281125
Status : Not Answered
Chosen Option : --

Q.107 fazpg ©u & trur-ufuy #, sngf~ @1 71 fSia=r siftes gian 8, Weea wivrema Sa= gt glar
gl

Ans X 1 sufafia gar 2
X 2. =
W 3. s
X 4. shga

Question ID : 2752281042
Status : Answered
Chosen Option : 4




Q.108 Qe 3-thot §saer Atex i arEfEn 12 uiw & forg & ok 58 50 Hz &t vorsft & smgfef & s <@t 81
geaahTiores Tfe &Y o 3|

Ans " 1.600 RPM
X 2.1200 RPM
25 3.700 RPM

o 2. 500 RPM

Question ID : 2752281114
Status : Answered
Chosen Option : 4

Q.109 In case of construction of an electric generator, the function of yoke is to provide:

Ans x 1. a path for electrical current
x 2. direction to the air-gap current
x 3. high reluctance path for flux

J 4. mechanical support for poles

Question ID : 2752281067
Status : Answered
Chosen Option : 3

Q.110 ge HuTR= 3l ufetaes 50 V 3R 50 Hz Frger AC sigfa S siofi s A 2 &1 umT 2 A @ ot
ufyuy & srgeafaq afes 80 w 21 ufaRtess & ufaRier Y morm =31

Ans X" 1.10.120

X 29580
X 3.5.4540
W 2200

Question ID : 2752281049
Status : Not Answered
Chosen Option : --

Q.111 &3 &1 T a1 3R A1 FT g IR THia 9 A 3 gY &1 37 sar: fRfte nfadtu 49:39 &
AT # & | USeIT aR g6 a1 Rl g1 A 30% 3Hfdeh URT &1 9Tg- Hedl g A g aR Ugd ar
&Y FoAT A 47% Uk A1 &1 I SIJUEY HIC & SATe] T T AT i |

Ans X" 104
X 214
™ 3.1

o 400

Question ID : 2752281005
Status : Not Answered
Chosen Option : --




Q.112 In order for protective relays to perform their task satisfactorily, which of the following
properties is NOT essential?

Ans X 1. Simplicity
x 2. Selectivity
« 3. Automation

x 4. Speed

Question ID : 2752281130
Status : Answered
Chosen Option : 4

Q.113 250V, 10 kW G2apd ¥4 & Jeaford sTvex # gof st o= #fte Ruara. (EMF) 255 V &1 afy
SR wrer go A wer 2 V &, & 40 A Y 9IR 9TRT (load current) TR SReR & uferte i morn
G|

Ans  off 1 25m0
X 2.10mo
X 3.15m0
X 4.20mo

Question ID : 2752281072
Status : Not Answered
Chosen Option : --

Q.114 Uk aTelas 1 aferte sigl ! ATgaT &, A ag 4RT & vang & 3 &, 9@ aeea
& AT &, 5 ag varg st A g1

Ans X 1. Jerdiear; wfiesu (indifference; repulsion)
X 2. 3eRty; FaRo (obstruction; prevention)
x 3. qgfta; ST (contentment; attraction)
( 4, faRtyr; ITRT (opposition; inducement)

Question ID : 2752281007
Status : Answered
Chosen Option : 3

Q.115 50 mH & URehed 3% 10 Q & uferiy arelt wiger ol 200 V AC mgfe & 25 pF & Herlis & |1y
sioft e & SiteT WA 1 3FT1E (resonance) UR WaTfgd g1 areft e R worr

Ans X' 1.2364A

o 2204
X 3.447A
X 4.956A

Question ID : 2752281050
Status : Not Answered
Chosen Option : --




Q.116 fereft aftay faatstes (circuit breaker) &, afy ameh & X-Terr= & gt & et & €1 ong, &t
3rrh @t orRia et & forg smasae atw 1 g 212 &, aimeh ury @t ufedty I

Ans  off 1 ag v & ag o R
7X 2. 92 ST &; 9 S 8
X 3.9 g we ST

7X 4. 92 ST &; g S 8

Question ID : 2752281142
Status : Not Answered
Chosen Option : --

Q.117 =1 & @ @9-1 et & e are-a 1ored g, it s & s iR &t w8t &1 9 uar et
&aT &t & &an g, it f&en & Shuyef ffed & e & ardh fgwal =t 32 famn ferdee
FRAT §?

Ans  off 1 e
X 2. gufea
X 3.afx
X 4. fseeimar

Question ID : 2752281132
Status : Answered
Chosen Option : 2

Q.118 o= Riwer-der 50 Hz #N 25T grawER & h 7 ¢, Sr ey F1e & &% 400 cms? ¥
AT T vEeE geed 1 Wh/m? §1 3000/220 V HuTE F e arswd agfe F a5 & g
e B

Ans " 1,945
X 2.400
X 372
o 4.338

Question ID : 2752281063
Status : Not Answered
Chosen Option : --

Q.119 Fmior & ety &, 7= § & -9 ZIAWIHR 1 Geh UK 8l 87
Ans X1 gRed

X 2. wsueR @154 (Spirakore type)

X 3. ey

o 4. Ze@R oza (Rotakore type)

Question ID : 2752281117
Status : Answered
Chosen Option : 4




Q.120 is a conductor which connects the sub-station to the area where power is to be
distributed.

Ans X 1. Service main

x 2. Distributor

« 3. Feeder

x 4. Service head

Question ID : 2752281146
Status : Answered
Chosen Option : 3

Q121 v W B Tl e fawsi #fAfaT (discharge reaction) & X1 X

PbO, + Hy + HySO4—

Ans 51 PbOy + 2H,0S
X 2 PbSO, + 2H,0,
V2 PbSO, + 2H,0
X 4 PbH, + 2H,0S,

Question ID : 2752281026
Status : Answered
Chosen Option : 3

Q.122 Every medium is supposed to possess two permeabilities, that is:

Ans x 1. absolute permittivity and relative permittivity

x 2. standard permeability and relative permeability
J 3. absolute permeability and relative permeability

x 4. master permeability and slave permeability

Question ID : 2752281029
Status : Answered
Chosen Option : 3

Q.123 Uer 220 V DC AR 7 =R ufaRia 0.75 0 g1 ag vah Affa diz wEafeagi w20 A
R ¥RT S et g1 af =21 g1 & g g o s, |t giew & oRka fana. (EMF)
foreamm ghm?

Ans X 1185V
X 2.235v
o 3.205v
X a.220v

Question ID : 2752281077
Status : Answered
Chosen Option : 3




Q.124 # ren wredn ag § 6 an @ @ dera awa & ofier ondh @t afta e R s anfge

AT I FEAT AT HIA T 7 Ugd Tl
Ans O 1. e

J 2. uRuy fagisies (circuit breaker)

X 3.
X 4 1@ R

Question ID : 2752281140
Status : Answered
Chosen Option : 2

Q.125 =1 7 @ fahe U & Hier | AeX aR (rotor bars) T4 R ®IRfY w0 | 21fE wfhes gidt &2
Ans x 1. that ars=s eX (Phase wound rotor)
x 2. feerg R Hiex (Slip ring motor)
J 3. TETEYA ol YieX (Squirrel cage rotor)
x 4. WR X (Star rotor)

Question ID : 2752281085
Status : Answered
Chosen Option : 3

Q.126 g% @i ufeRiuss Ry, Ry SRRy Soft s A 2 § dtumr ____ )
Ans o 1. woft o et T giht

X 2. it areret &t Ry o At ARt & ke gt

ZX 3. 3 arer ufe & o7 sre-aren gt

X 4=

Question ID : 2752281015
Status : Answered
Chosen Option : 1

Q.127 As far as construction of induction-type single-phase energy meter is concerned, which of
the following does NOT constitute its parts?

Ans 1. Armature coil

J 2. Stator

x 3. Current coil

x 4. Voltage coil

Question ID : 2752281153
Status : Answered
Chosen Option : 1




Q.128 DC A=fi=i & Tgaf &, g aEfEn § g A TR MU §H § swiev g aEfEn____ & fav
fere argget gt &1

Ans O 1. Feudieds, Fea-arr DC el
X 2. fmdiete, ge-ar1 DC Aftat
J 3. Sw-dices, fAm-urr DC AeRfiAl
X 4. fmdies, Pt DC aef

Question ID : 2752281122
Status : Answered
Chosen Option : 3

Q.129 4-Ulel 0 a3 aret DC wi-ver & Ul uler Iuahift veea 0.05 Wb 81 51ar ag i ga i
Tgrgar ¥ 500 RPM i nfay ur =re1an 8, af 3eu fa.an.a. (EMF) 3iTa &h¥1 3R & 400 =7elh &1

Ans o 1.166.67V

X 2,462V

X 3.57.589V

X 4.13862V

Question ID : 2752281068
Status : Answered
Chosen Option : 2

Q.130 gt FATH 200 KVA 1-Thol i bl STe §F0-R ¢ (doh-g-ah %) fafer g = fopar man, &t
=1 aftomt e gu: wwes @re 4 kw # W1, e sioft aRuu F w2, 6 kw = fEdfas &
gieRe qui-sil= & (full load current) waTiRd gl &1 Ueleh iR &Y Zerar FAruia &2

Ans  off 1 97.56%

X 2.91.52%
/X 3.8857%
X 4.99.85%

Question ID : 2752281060
Status : Answered
Chosen Option : 1




Q.131 v 717 3@ F 3ewTw &1 A7 C 3K E F &7 St 79 F4 gy F w7 aw A §

Ans ' 1.-10V

X 210V
3 -5v
Xay

Question ID : 2752281021
Status : Not Answered
Chosen Option : --

Q.132 e At & Fufu Famat 4, Jadia veew & fog e ofere sy ary vem o g1
Ans x 1. arrfer arefET

X 2.d=

JB.E’IEE(yoke)

X 4.5

Question ID : 2752281066
Status : Answered
Chosen Option : 3

Q.133 3feeAex §, Tars- Tifed 3eeeex gl gal seeeex & A= & 9 fovg v & dtex =1 sugin
fora ST &, it age v e @ Ted &2

Ans x 1. TIY-Ui 278Y Fex (Smooth-pole type rotor)
x 2. &foie-fAfeifgear zgu Wex (Salient-cylindrical type rotor)
x 3. &fade-uler Zrgy e (Salient-pole type rotor)
J 4. w1y-fAfifgaa eu deX (Smooth-cylindrical type rotor)

Question ID : 2752281099
Status : Answered
Chosen Option : 2

Q.134 a1g & feg FRfSes aedt-ier arg] &u & 92 viaRty # gieest & A= gRi =i ghar

g, Wit siznifoha sriaf¥er umRT |id & YT i 399 | gt Seiyde UdTied e o URUH-E g
I g g1

Ans X1 gicea
X 2. afar
o 3. ofRy

X 4w

Question ID : 2752281083
Status : Answered
Chosen Option : 1




Q.135 sizr-fofRé e ofik srar-wsfEn argu e F & v Al & vaR €1 872
Ans X' 1 FHP i

o 2. Roer w@ré deaem @ AR

X 3. ReRRm dw

X 4. e Ruear e

Question ID : 2752281092
Status : Answered
Chosen Option : 2

Q.136 vewAw Ty FE & &9% 0.01 mm? T SRERUFAT 60 po-cm AH 100 m W AN F AR AT F

e X 6x1070
V2 6000 Q
X360 Q
X 4 600 Q
Question ID : 2752281016
Status : Not Answered
Chosen Option : --
Q.137 forega Heura=T &/ o1 31 & for ferega Sueheo & urg & 9+t iR-Rega warg aret W
1 ordf wie & Hrur @ater

Ans Jl&ﬁfﬂ(Earthing)
X 2. e (Metering)

2< 3. 75gfei (Neutralling)
< 4. ursfii (Piping)

Question ID : 2752281051
Status : Answered
Chosen Option : 1

Q.138 =1 # & a7 v tRur-weRR Rive-thet et diex o e @i 82
Ans X 1. fewe zmw

o 2. aifs v aren f@fear
X 3. gegrifam e e
X 4. R ds e

Question ID : 2752281154
Status : Answered
Chosen Option : 3




Q.139 uf¥uy fagtres (circuit breaker) 2T 31k ufeRty Ay @ frw denfier ur Al adi e @2

Ans X 1. 31 & IIRY-ETE
2 A f sk
X 3. s i wiard
X 4. amg f e

Question ID : 2752281141
Status : Answered
Chosen Option : 1

Q.140 fra-bo s Al & el &, P A d - s sy g @?

Ans  off 1. et ssar Hie g @ A Rt o S e @ e & R s 2
X 2. 9135 St Wi, Rivrer-dher gser wiex T gt
27X 3. gsaar €l ez, Rier-dot deaer Hiex ¢l g &
X 4. River-Ghet $gaRi Hiex iR et AleR Srer-31er 81

Question ID : 2752281088
Status : Answered
Chosen Option : 1

Q.141 =R & fFmfor & wesi A, g fir dmum & It g &1
Ans x 1. Fiies W (field poles)

x 2. e (danglers)

x 3. gta-g] (pole-shoes)
« 4. 37 (dampers)

Question ID : 2752281100
Status : Answered
Chosen Option : 4

Q.142 3 & FoagaR, = ot FRR 7@ I §, 99 URT 91 o R & e &
T gt &1

Ans X 1 qroEE
o 2 oy
Z< 3.3 (power)

X 4.gmm

Question ID : 2752281013
Status : Answered
Chosen Option : 1




Qa3 gmERum AR A geha YA Ffamaa______ @i
Ans X 1. 33 dta i gt & G

o 2. 57 gy mrat & gargoTh

< 3. 37 gga st & Rt

X 4. 37 & i g8 & cgeraruTd

Question ID : 2752281031
Status : Answered
Chosen Option : 4

Q.144 U S5 Aier, wigt mrufie afE QR g & @f s asfE oofa & Ge waa g g,
#A___ Fwud M o ST Hmar g1

Ans x 1. &€ DC #Htex (shunt DC motor)

J 2. Frefé gtk (rotating transformer)
x 3. WU Hiex (stepper motor)

x 4. %Urss DC HteX (compound DC motor)

Question ID : 2752281084
Status : Answered
Chosen Option : 2

Q.145 A & AR & ek geavs & 1.5 0 ufekty &1 af¥ @z o1 RfNe ufady dnfAe & Riftre afakta @
20 T 8, Y 36 gon-fagtE wad ofk ue-faetd o aret @t ar o uferty foraen ghm?

Ans X' 1500
X 2.700
X 3.300
W 4900

Question ID : 2752281006
Status : Not Answered
Chosen Option : --

Q.146 A is electrically identical with an alternator or AC generator.
Ans X 1. repulsion motor

« 2. synchronous motor

x 3. stepper motor

x 4. asynchronous motor

Question ID : 2752281101
Status : Answered
Chosen Option : 4




Q.147 Rrgagahig snador e & o1 @ Srenfora gien @, it fiega T & yat &t oiik smaftfa
g @ a1 ow AeAiss d wffa gt wr @ @

Ans 1Bz

X 2.3z

X 3w efifaw
o 4 amiR

Question ID : 2752281128
Status : Answered
Chosen Option : 2

Q.148 = & @ fore v & Aied & Aex Y 1f Ft o soawn gRT geumfere e Y nfa aw ar
I A & Frepe ek Tern oiran SR e 3@ DC Hia gR1 sAfaa famar sirar @2 o e ag
off Az RS gian &, ag Reedada 0 3 */= & gy @ d @fw @ s @)

Ans X 1. RuesH Hie
25 2. FHP HiR
o 3. g A
X 4. srgeaaniferes Hex

Question ID : 2752281102
Status : Answered
Chosen Option : 3

Q.149 gt R & e (i) @ferde-ule 215 (salient-pole type) 3R (i) u-fAfeifEews ez (smooth-
cylindrical type) @1 SugiT # farar sirar g1

Ans X 1. FHP HieR
W 2 swhiw
X 3.DCwReR
X 4 Rm AR

Question ID : 2752281098
Status : Answered
Chosen Option : 2

Q.150 51 SIS ! F1g] divest A siran 8, S ag favwa urfir (potential barrier) @ FgTaT & ik
TRT & WaTg ht Ao oean &, at 58 3T gl Sirar 82

Ans J 1. Iend 3if9A1d (reversed biasing)
Z< 2. 3m sf¥=f (forward biasing)
X 3. eeTHE f¥AfA (positive biasing)
ZX 4. FoaE SR (negative biasing)

Question ID : 2752281070
Status : Answered
Chosen Option : 1

Section : General Hindi and General Knowledge and Reasoning




Q.1 Feafaf@a & 4 v e sigs 82
Ans X 1. g5 & Tud @ e Bl

X 2. 9 T1ee 9gd ol 81

X 3. R ga afgmet afera &1

s R Emaa 2

Question ID : 2752281168
Status : Not Answered
Chosen Option : --

Q.2 ‘¥gar = yatgarh &
Ans X 1. e
V2w
X 3wt
X amrm

Question ID : 2752281159
Status : Answered
Chosen Option : 2

Q.3 fei ereal o = a1 g adt @2
Ans X1 wER-3W

X 2. e - gt

o 3. -

X 4355 - g

Question ID : 2752281163
Status : Answered
Chosen Option : 4

Q.4 uuref ot farete oreg
Ans  of 1w

X 2. g

X 3. ad

X 4 frand

Question ID : 2752281162
Status : Answered
Chosen Option : 2




Q.5 o efor it oft Tt A § - areriar & o 3w Rt &:
Ans X 1. el Wi # e TE

X 2. = geig A% 3y

o 3.z i EFE o S a2

X 4.2 & afdvan & i = A o

Question ID : 2752281167
Status : Not Answered

Chosen Option : --

Q.6 =¥} o1 AT AR H - AieRifeR @1 orf ghm:
Ans X 1. <t &1 g ol AR St

2 D R ari AT a2
X 3. =8 & aet et & g T

X 4 e

Question ID : 2752281166
Status : Answered
Chosen Option : 2

Q.7 @ a1 vataar e g s &
Ans X 1 gdft-qu
Jz.f'a's-am
X 3.9 urg
X4.=nﬁ-m

Question ID : 2752281160
Status : Not Answered

Chosen Option : --

Q.8 IE uTwn & geTeR N FEa &
Ans «11331%—{[

X 2. s

X 3. e

X4.gg'|a'<':

Question ID : 2752281165
Status : Answered
Chosen Option : 1




Q.9 F=ffRe 3= o aga s adi &7
Ans o 1 Fma

X 235

X 3.4

X 4

Question ID : 2752281158
Status : Not Answered
Chosen Option : --

Q.10 YT & Agd FU&:
Ans X']w
X 2.gm
X 3.
v g

Question ID : 2752281157
Status : Answered
Chosen Option : 1

Q.11 34fek shte e - 1ok & forg 3R Aerew g
Ans X 1. ittt g
Jz.a‘”r@‘fﬁqsrm
X 3 s dm
X 4. sifgi e

Question ID : 2752281164
Status : Answered
Chosen Option : 4

Q.12 Fe=faf@a & @ w1 ar vafgardt e a9g 92 @

Ans  of 1 T wEm, 5
27X 2. Faam, 3, e

X 3. wrE, Wi, el
X 4. wifg, 3, st

Question ID : 2752281161
Status : Answered
Chosen Option : 3




Q.13 Prafafea & @ w19 @ are 3= @7
Ans X1 R el wel W R

27X 2. 83 3t Ry o &)

o 3. & st e F g

X 4 @ qERI &M E|

Question ID : 2752281169
Status : Answered
Chosen Option : 3

Q.14 Fr=fafEa d | @)= a1 acqw aes 78 82

Ans X 1. 3

X 2. TR

f 3. @
X 47

Question ID : 2752281156
Status : Not Answered
Chosen Option : --

Q.15 # Tg< §Y Ul o &) A F S F9 8
Ans X 1.8 wgd griE TR

f 2 F o wsd gu

X 3. 983 gu v A A

X 4w grim A @A

Question ID : 2752281170
Status : Answered
Chosen Option : 2

Q.16 =T =5 1 T 9T & &:
Ans X 1. erga

X 2w
vV EEC
X 4 s

Question ID : 2752281155
Status : Answered
Chosen Option : 3




Q.17 3 = FiRear a-reit arer | fora uenr it iz 82
Ans  of 1 FE dEh g

X 2. g dah iy

X 3. o it iy

X 4. ves e S

Question ID : 2752281171
Status : Answered
Chosen Option : 1

Q.18 F=fofEa 7 @ fava a@fa 3 Ridhg d@u 6 xart & S st @gait geran sk Rida d@a F
ook Ay fader ofte gren fify &t agrar far?

Ans  of 1 wiRa
X 2 gredn Efy
X 3. dRm
X 4w

Question ID : 2752281184
Status : Answered
Chosen Option : 3

Q.19 T=T AR (AR #) A fFach e-erTe & SR YR R 3R iR ur?
Ans  of 1. g oy

X 2. < et

X 3. nfEr TE

X 4. Tgge T

Question ID : 2752281172
Status : Not Answered
Chosen Option : --

Q.20 geurgd garfan & & wwefial A fner atsr & Sepean gifde o o ofi?
Ans X 1. it s

X 2. @
X 3. R

o 4. nfora

Question ID : 2752281187
Status : Not Answered
Chosen Option : --




Q.21 9RA & IEufd &1 Frafed T g?
Ans X 1. ge duifie smUR

X 2.t & SR

X 3. uen Rurh amur

o 2. oe duifies amR

Question ID : 2752281177
Status : Answered
Chosen Option : 4

Q.22 e qwhR fAasian, smaf 89, Fafaf@a # 9 A wroi 6 aga@ &3 & o= aingE & g
S S 87

Ans Jlmﬁ
X 2. Sterarg R
X 3w
X sg@

Question ID : 2752281176
Status : Answered
Chosen Option : 2

Q.23 siifgan & FrafafEs uftg wdsar gt & | &9 ag aFar a7 wdsar stigie 7 gan s
=g 21fvh fit wrfierd g+ fge?

Ans X 1 geme el o
2 g e
X 3. waE midh
X 4. wa fig

Question ID : 2752281179
Status : Not Answered
Chosen Option : --

Q.24 sgTgA & Fafefaa 7 @ e oo @ giow agdr 87
Ans  of 1 s e

X 2. =g

X 3.7

X 4 furem

Question ID : 2752281185
Status : Answered
Chosen Option : 1




Q.25 F=fafEa § @ forg dewmg &t SageTe Age de0Tg & A1 @ ST S 82
Ans o 1 i

X 2. sigen dexg
X 3. R sewmE
X 4. ek dewg

Question ID : 2752281183
Status : Answered
Chosen Option : 2

Q.26 F=fafae & 9 s anmez & ot &2
Ans  of 1 @R

X 2. 2guga

X 3. et

X 4T

Question ID : 2752281180
Status : Answered
Chosen Option : 1

Q.27 F=fafEa d @ o g § vt stigies @ et 78 87
Ans X1 dasdRam

X 2. A

X 3.3mmg

14.‘11%%@@

Question ID : 2752281175
Status : Not Answered
Chosen Option : --

Q.28 R.t.amd. {weha Rerd &6 (RBI)) Frafef@a & @ farg afaffam & e aman &7
Ans X 1. far s sfafem, 1951

X 2. gl w@re daw affiam, 2017
o 3. vl R d P, 1934
X 4. gt o sfafias, 2002

Question ID : 2752281174
Status : Answered
Chosen Option : 4




Q.29 g sufue Fefef@a d @ frg de wramg?
Ans X 1 wrg

X 2. aydde

X 3. 3mee

o . g age

Question ID : 2752281186
Status : Not Answered
Chosen Option : --

Q.30 F=fafEa & 9 fora w1 3 1960 & g2/ ® W | daadia gl &t anfaa forar ur?
Ans X 1. R e o gt Ao

X 2. sy gt gg R gerehifa

X 3. sficianrd Tegg ok g

o 4. <, 5 s, He 91, R S

Question ID : 2752281182
Status : Not Answered
Chosen Option : --

Q.31 #E 2021 7 Fi A & R R # et et T 87
Ans X 1.22

W 228

X 3.31

X 4.26

Question ID : 2752281173
Status : Answered
Chosen Option : 3

Q.32 =ure A v &1 uidig T (a1 iR Afde uts) g v o forar anr?
Ans  off 1. e
X 2. e

X 3. gt
X 4 gfid

Question ID : 2752281178
Status : Answered
Chosen Option : 3




Ans

Q.33 3rfAsfta a=sff 7 sreferrea & &= # oro? @ & forg e yreenr sftan, I @ fara v =
Hiza um?

ZX 1. R et & s @ ISR &Y H el

X 2. anait o Rt i geh et oyl sjaen & Arenm & A @ § guR &
o 3. & vt @ T g o et & wem @ AR T @ wE

X 4. anfifes qemadlf & wrerm @ a4t ) derd & &H we

Question ID : 2752281181
Status : Answered
Chosen Option : 2

Ans

X 1. s
X 2
3. feEr

X 4 s

Q.34 ¥R ez 2w v &, o= @ 9 & ven v AfYa R A aam=ear @ o v er/iTd 81 39 s
QT HT T FHI |

Question ID : 2752281193
Status : Answered
Chosen Option : 3

Ans

Q.35 ag " RAfga w st = siaen § d@&6fda g &1

121, 143, 165, 186, 208

X 1.209
X 2.143
o 3.186
X 4.165

Question ID : 2752281200
Status : Not Answered
Chosen Option : --

Ans

25:125::36:?

X 1.318
W 2216
/X< 3.206
X 4.180

Q.36 I faerea &1 =g+ FifSg e o den @ ot deay @, it g dwen @ st e # g1

Question ID : 2752281190
Status : Answered
Chosen Option : 2




Q.37 39 faerea &1 =g+ fifog e aresl & i adt @dy @, it =i Ry 1g eree-gm & =i & v
gl

fagd: €2

Ans ‘,1_55(—,[;31?
X 2.3
X 3. wiarse  ®=
X 4. de: dam

Question ID : 2752281189
Status : Answered
Chosen Option : 1

Q.38 I faerea &1 Tg= HfSg it e smepfer sjzae & X & T o= smem)
C OO X
V[

Ans

O
O

Question ID : 2752281192
Status : Not Answered
Chosen Option : --

Q.39 ‘M+N @ arf g fof 'M, NFT g &';'M - N’ @1 o1ef & fF ‘M, N Fr oeft 'M = N’ a1 a1ef & 26 ‘M,
NFTHEZ: M+ N FTIHSgfFE' M NRr AT siR'M=NFrafgfF'M, N foar 2 1afz A
=BxC@g &t AwrC & aar Rear &?

Ans X 1. ACHHEE
X 2. A, C & ardy/anfy/gen/Hh )
o 3. AcCHRmTd
X 4.ACHIER

Question ID : 2752281198
Status : Not Answered
Chosen Option : --




Q.40 T wree ¥he &, Yhe d9ata &, dwater g &, aoet Feaid 8, 3R Feard hed § af fBrde
forerst @ S 82

Ans O 1. e
X 2%
W 3. gt

X 4 3w

Question ID : 2752281203
Status : Answered
Chosen Option : 3

Q.41 ufg ser-ugg fig g §, o 9 9r & 9w ga FAffe R & war=ar @ off e orda 8139
A JHER-HHE & 99 &I

ECH, FDI, GEJ, HJY, IGL
Ans X 1.FDI

X 2.GEJ

/X 3.ECH

o 4 Huy

Question ID : 2752281194
Status : Answered
Chosen Option : 4

Q.42 U Afge i 3R Taha Fedt gQ @9 A gt 3, 'ag 39 nigen H o= &, 9 38 °f & ufa Hraf @r
39 afgen @ dn @ Far Rear g2

Ans X 1. srefy/sme/gs/H
f 2.7
X s.uh
X 4w

Question ID : 2752281196
Status : Not Answered
Chosen Option : --

Q.43 thuRaR F ot sg9e P Q,R, S, TR U T U amm R @ &1 Q, RFTq &, g R, Q Y
aiagigIP SRR AERa g I TRAFWE RIS, PR G dIU, Qw1 QFraf Fa 32

Ans X 1T
vr
X 3.u
X as

Question ID : 2752281197
Status : Not Answered
Chosen Option : --




Q.44 39 fasrea &1 oo Hiforg it § w2 sjmen § uemaras Rg (7) & T wr smem)

Ans

2Y, 5W, 10T, 17P?

o 1. 26K
X 2.26L
X 3.27Q
X 4.27K

Question ID : 2752281202
Status : Answered
Chosen Option : 1

Q.45 i3 g g ude sia &) e faffiee dwar smafen i vd @)1 et o1 ag weiem g o

Ans

T 37&R] i Ay g fhg S uR g wrefen oz Al g

C|INJA|S [P |H ]I
11|23 |4 |5 |6 |7

14572316

X 2.7,2,3,4,51,6

X 3.57,426,1,3

X 4.2,3,7,54,1,6

Question ID : 2752281195
Status : Not Answered
Chosen Option : --

Q.46 T T R o =it e sjaer @ w69 agi 21

Ans

5,17, 38, 65, 101, 145

.38
X 2.101
X 3.17
X a5

Question ID : 2752281201
Status : Answered
Chosen Option : 1

Q.47 39 forerea o1 9o ISy et dieR 21 & agt ddy g, it g9 20ss ol Ugd s 9 gl

Ans

ot : uftay :: geet ;2
X 1. "R He
X 2.0y
f 3 e
X 4

Question ID : 2752281188
Status : Answered
Chosen Option : 3




Q.48 ua fAfaya e e # A 'iks spr tri’ &1 312 'nice Sunday morning' &, ‘teh sti spr’ &7 31 ‘every
Tuesday morning’ & 3R ‘iks rpm mit’ &7 372 'nice market place’ 8, @t 39 %2 W91 # 'Sunday’
& fore fore s =t Suat forar mar &2

Ans X 1. mit
X 2. iks
3.t
X 4.spr

Question ID : 2752281204
Status : Not Answered
Chosen Option : --

Q.49 39 farerea o1 u= oy e dw=rsit & A agt dey &, st A =gy & dersii & 7w
g1

(7, 80, 180)
Ans X" 1.(4,40,120)
o 2.(6,70,160)
2< 3.(9,100, 200)
< 4.(5,60,160)

Question ID : 2752281191
Status : Not Answered
Chosen Option : --

Q.50 39 fasmea o1 o Hiforg st § wd sjen § nemaras Rig (7) & T o e
95,84, 71, 56, ?
Ans X129
W 230
™ 327
X 4.35

Question ID : 2752281199
Status : Answered
Chosen Option : 2




	Template for PYP PDFs - Acrobat PDF - first page.pdf
	Blank Page




